12. Correct. A workout video will be included.
an instruction manual,
free delivery and

a discount are not mentioned.

ClCEG!

C Learn by doing
A
Possible answers

When were you born?

Where did you grow up?

Do you have any brothers and sisters?
What did your parents do?

When did you go to university?

Which university did you go to?

What did you develop at university?
What are you interested in?

What other interests do you have?
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Student’s own answers

D Further study

Student’s own answers

Unit 19
Part 5: Incomplete Sentences

A Focus

1 Test tactic
A

cooperation (N)
criticize (V)
partnership (N)
department (N)
simplify (V)
quickness (N)
activate (V)
celebration (N)
security (N)
widen (V)
assistance (N)
realize (V)

B

-tion/-sion: noun

-en: verb

-ness: noun

-(i¥fy: verb

-ship: noun

-ise/-ize: verb

-ity: noun

-ate: verb and noun
-ment: noun
-ance/-ence: noun

Cc

1. (noun) investigation
2. (verb) criticize

3. (noun) internship
4. (noun) dependence
B. (verb) identify

6. (noun) document
7. (verb) renovate
8. (verb) elevate

9. (noun) repetitiveness
10. (verb) soften

2 Test tactic

A

1 b

2 d

3 f

4 c

5 e

6. ¢

7 a

B

1. |

2 e

3 i

4. g

5 f

6 a

7. b

8 c

9. d

10. h

Answer Key
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3 Tactic practice

1. (C) friendship - noun referring to the concept
(not the person)
2. (D) standardize - verb
3. (A) simplified - past participle to complete
passive verb phrase
4. (D) mishandled - meaning badly or carelessly
handled
5. (B) subsidiaries - meaning a lower, or less
important, branch of the company
6. (B) intermediary - meaning someone that
speaks or negotiates between two groups
of people.
B Mini-test
1. (D) Correct. strengthen
(A) strong is an adjective, but a verb is required
here.
(B) strongly is an adverb, but a verb is required
here.
(C) strength is a noun, but a verb is required
here.
2. (B) Correct. ownership
(A) own is a verb, but a noun is required here.
(C) owning is a present participle, and does not
make a logical construction here.
(D) owned is a past participle, and does not
make a logical construction here.
3. (C) Correct. concentrate
(A) concentration is a noun, but a verb is
required here,
(B} and (D) are incorrect verb forms to complete
an infinitive of purpose clause.
4. (A) Correct. positive
(B), (C) and (D) are not adjectives that normally
collocate with the noun attitude.
6. (A) Correct. reaction
(B) suggestion, (C) interjection and (D)
submission do not fit the context.
6. (C) Correct. identification
(A) Your identity, or who you are, is what is
shown by identification. An identity card is a
piece of identification.
(B) identify and (D) identifying are verb forms,
but a noun is required here.
7. (D) Correct. widen
(A) wide is an adjective, but a verb is required
here.
(B) width is a noun, but a verb is required here.
(C) widely is an adverb, but a verb is required
here.
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10.

11.

12.

(B) Correct. rescheduled
(A), (C) and (D) are not followed by the preposition
to.

B) Correct. subscription
prescription usually refers to medicine.

and (D) do not fit the context.

L

(
(A
(C
(D
(A
(B
(C

_— ~=

Correct. overpay

pay,

repay and

underpay do not make for a logical meaning
in this context.

vvv

(D) Correct. obligation
(A), (B) and (C) are verb forms, but a noun is
required here.

(B) Correct. relief

(A) refund would require an indefinite article -
A tax refund

(C) and (D) do not collocate to make a noun
phrase with tax.

C Vocabulary practice

Across

1. uncompromising
3. overstocked
6. illiteracy

7. intermediary
8. devastate

9. impatient
10. criticize

11. renovate
Down

2. mislead

4. discontinue
5. obligation

6. interaction





